3. In this question you must show all stages of your working.

Solutions relying on calculator technology are not acceptable.

(i) Solve the equation

xV2 - I8 = x

writing the answer as a surd in simplest form.
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(ii) Solve the equation

Ix-2

i
£ %
2 @
(4 x Ny —fig =2
x(Na-) = Jig = afaxy =3A7
= 3a2 — we wneed to vehenalise He

Wa-1) dewovmuinetes Yo gyat Sludslect fone
- 3’\/1(\/1“”‘) rﬁm{c{uj (Se cff

(Na—1) (N +) fa’-4") » (asb)la-b)
=3(2+ah) _ 3+3N2

2=
() A in emauple | asle Hak L=2" so
3 —2 ;_(gx-:.)
U = _l_ > a = | - _\___
aN2 ana 2%
- 3,
R Y- ,‘]on e =2 '
Erv,m,l—m? He porvo-ess 'f Q ow botl ycdz,g
(07(';'[]_ - —5/21
‘.:7: = g/Zl

X g/lﬁ.




